NGRS RN TR S, A R B P AT e AR R R 2 TS,
gy 7 A AL A

Xiao Zhang is a secretary of Dahua Company. Today she is going to

take a client, Mr. Brown, to visit Tian’anmen Square. She has hired a taxi.

#0>%) Key Sentences

1. RE1T5REAT .

17




2. LAz ), HAAHER T AL

3. 0080k, FEIFEHIZR I,

\§ J

5= 5 Grammar

1. RE5REAT

> EAT (lido): BHEEANREEE”. HENEAE“LEF T, 2R
%“ﬁ%i\b”\ ccm‘ui\tno ?J‘:E%Z:“T”E(]E%yg[héo]o

> “Z:AN T (lido)” means “unable to go”. The affirmative form is “Z:15
77, which means “able to go”. Please pay attention to the pronunciation of
“ 1> here which should be [lido].

(1) RAXTFFEENE, X7,

(2) ARE&%F, KREART, LR LK T,

(3) RELLELTT, THFH2&KEFT.
2.9 LR R AS @ W], AR A

b RRE: XEMEERREL . BRI R L, B
%ccﬁ%ﬂ%ﬂ\ ccm‘uﬁ%”o

7

> “i A2 means “cannot pass or get through”. The affirmative form
is “IT15 25> or “AJ LLIL 2, which means “be able to pass or get through”.

(1) Ard G, ZRNELrE.
(2) XEBXKET, £MNWETAE,
(3) 3R T, LAHAE, KMEEED?

18



3. 518k

> 8L BEANRARALAITE, @ A gE”. S A)TEm X
Ji AR RN BRI IR TE R, FEAZEEX g tesE, e —Mas
o

> «“f&127E> is a polite formula used when seeing a guest off, and “f2 &>
has the same meaning. Though literally it means “walk slowly”, its use has
nothing to do with the age or health of the guest you are seeing off and you
are not really telling him/her to walk slowly. You are just saying goodbye.

- N
) 1E 4L Yocabulary
1. | jidotong . traffi
2. B ] guinzhi . control
3. Y%  chiziche n. taxi
4. A guobuqu cannot get through or pass
5. Hh 2k diti& n. subway, underground
6. (G tiyan V. learn j[hrough practice,
experience
7. R fapiao n receipt, invoice
N b

- H 4414 Proper Nouns

19



Tiaw an mén Tian’anmen (square
R4l )
Bu ling

i B Brown

Zhang

g a surname

- e x = o= = =

A D i‘; A
- é’% F

1+ 55 B8 Task List

—. 0 E]45 2] Exercises for Key Sentences
W g, HEPCTFEPE.

Listen and fill in the blanks with the right characters or Pinyin.

1. RZIT5KR C ) .
2. LA EE S, HAZEE ¢ ) .

3.1 C ), EIFERZRD.

20




. B % 2] Questions about the Text
(—) Wrsg, EFIEFHRER.

Listen and choose.

[E—

HWHERNTAEAT RZ]? (

A. 3% (ducheée)

S BT

2 AR
. J00N

S

. (e
.
g $-\

&

(Y fjé}
\u}

X

-\
G
N
_\-?;:‘
-~

3. A BN R ANAT By 2R L 12

A Kb

21
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B. X1
C. A%k

(=) Wrsgdr, W REAFREIEM. WRF, B

Listen and tell true (V) or false ().

L NSRAEAR R KR %] )

2. Fi BB AA M BR tBAR . € )

. SEfi% 4% >] Performing Tasks
Wrsger, PR 3.

Listen and choose.

L REERPIL? ¢ D

A. 3%
TR JE
K % sk

o W

\O)

AATE RIS A, C )

>

W E
B. T/
C. #RAT

22




) hL: ARAIEF! FPRIL?

R FRZIT

AM: ERINAEERT

K AT A?

SiAL: ARLX A R3GBEH], HMAEARTRL,
Dk IRE A DT

Sl HL: XA, RACARAVE B Mk, R AR K
JaR: LA, BEE LT

B AR, &RE RIS RIS LT A9 A TR
DR ARKIFT o JFAE, RV EAERIEE,
slp: 4. (LT —2)L) Az, BT,

DR ey, AR, AR —KA R,

b 4F, BIRRE, BBA, 2FROET,

S Y 25 > JOA

oo JFAE, AALG R AL TIRE & % K] ?

B BRAHE, FADEELAEL

Yo AREAT, ERK S

23



Fo ARG, LRFBIEEGRT R
(7 —2)L)

Yo ), XRIEARNT, TRBRAZE, REHNGE KL
WA, FRATALTAT,

F: A, KRTHEE, XLEZ—TA2HEKME (quadngi Uxing) &9
-

51 42

(o]

o RBAFI. %, T, ATEFTEALAT .

24



RO B AR A

/INSRATAR BIR 2 1 ki o

Xiao Zhang and Brown arrive at the subway station.

#>%] Key Sentences

1 HEREENINIEEDY 1) LA =Bk, BIER R
2. AT AR DU AR Y, AR B ZRIE AT 1.

3. PAEAR AR B EE LA E

N

15 = 5 Grammar

25



L, BEEE A
> ke JIGE], PRICH RS RE 1 BB T
> “H%> means “I see”, “I understand” in the text.
(1) A: AT AR, B: B, AT,
(2) Bk, &A9RELAEZL)L,
(3) Mk, HABLRT, ™5 5x,
2. BLAE A2 R VG AR TR A -

> ar R W RIETIR, SRR P U R YR 2 NS
bh.

> “f+2”, when used before “#}” or “tH”, indicates that there is no

exception to what is being mentioned.
(1) ZMRAT2EW L.
(2) ¥ aiT &b A F &84k
(3) HeTARdgT1%, HAAET L.
3. K AE S R TR IS AT T o
> AR RonthFER, AR
> 3% AEH 21> means “out of one’s expectation”, “unexpected”.
(1) 183 d 0 % R fe L AR L,

(2) RAARKXART (lido) , FIBRMEZLRKRT (le) .

26



(3) R=F&RAKT, FEHILTHETHLZXZ K.

N

.
1A 15 28 Vocabulary

1. Gy jiangjia v
2. ko zhingjia .
3. 1539 0 int.
4. K1 {1 ganggang  adv.
5. 3k gonggong  adj.
6. FHosz qishi adv.

cut or lower the price,
(price) lower

raise, increase the price,
(price) rise

Oh, Ah (expressing sudden
realization of something)

just, only
public, common

as a matter of fact, actually,
in fact

1+ 5% 5. Task List

— . 1% 0>H) %5 2] Exercises for Key Sentences

W&, HM T EHEE .

Listen and fill in the blanks with the right characters or Pinyin.

27

LHBREERIRL ¢ ) 7, BLATZ =3k, BIER MR,

2. IEEAT AR 0EHE ¢ D, IRAERIHERIRIERE T




3. PEAR AITREW AR ¢ )

. BRI % 2] Questions about the Text
(_‘) Hﬁ*% li?%ﬁﬁﬁmﬁo

Listen and choose.

[E—

ORI R R R 2 Dk O )

NEE S
B. =3
C. Wik

2. AEAL A IR LLAT D12 H? ¢ )

B. /&7
C. MN%mid

(=D Wrsgkdlr, AW A TFREER. X,

28
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Listen and tell true (V) or false ().

L AR = A DT, ¢ )
2. A BFRIEMBEREETR Y 7. C )

3. /hak AL AR A . ¢ )

-

= . SZ/% % >] Performing Tasks
W&, EEEIEE R

Listen and choose.

1. T EM (fangjia) , BLELAF? )

A HEE
B. &4—H&Wk
C. ~A THETE

VR LA
B K, KRS YK

29



DKk Bk,

AE vk, R,

DNk REY, RAEBRIRIENT, ARk, AR,
AH: AN ZRBAKN, TEBHKZEENT,

DR R, AL AR GB R KT, WAL N AF LA
AR, A&, MRASLE, &AM,

Z!FH}]: iuﬁo

S 25 > JOA

Y. FA, A LEBLEMTAETK,
B RO, BMEKFERKET
4o AT A BHAE F EAFAL BT RF?

H: A%, E2AMEN, B (zaishuo) BEMATR—AK

w, HE (kénding) &&8y,
d: RANRKTHRE, REZKRLER &L

B AR EB

30



WX s KR

ANNEE B, fhiEAE LK EE,

Someone has to make a business trip to Shanghai and is trying to get

a train ticket.

#%0>A) Key Sentences

1 iGN, 105 2 bl a2
2. WAL B i B2 KA [R) 2

3. = DU /NS IE

15 = 5 Grammar
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1.5, F105 2 iR o b 2

> B RN FE K ERRERE M . KEFEALr Dot . RN BORE. BR
bk DY Aol o

> “fififi” means “hard berth” which is a thinly padded berth for one to
sleep on overnight on a train. For most trains, tickets are devided into four
classes: hard seat, hard berth, soft seat and soft berth.

2. T109/% 135 10 A ff fap 52

5

> T109Ik: FLoRFIEMEIR. “DKRIANFHINE, HEERIR
(s “TRFFRINE; KRR PE S F

> “T109¢X” is train number on a Chinese railway schedule. “D” stands
for high-speed multiple unit trains, “T” for express trains and “K” for fast

trains.
3.4 L ?

> N R K EALEAE N RIEME . KAERIRERN > Dy AR S ARAT
=Rl BEMY Dy EARAT N B R

> “N4H” means a “lower berth on a train”. Berths are divided into
three kinds: upper, middle and lower on a hard berth carriage and upper and

lower ones on a soft berth carriage.
4. + = PUAS /NI IE

> FEN FEAASIETER, FoR KB .
EIUR AR, BRI (90) 1RH. L=
UESNES WAV RNES VNZE

> Two consecutive numerals used together in Chinese denotes an

32



approximate number. However, nine and ten are not used this way lest there
be confusion with “/L1” (ninety). Other examples: “=JUK”, “Fi/5
}_’r”’ “’b/\ﬁﬁ%”.

1A 1528 Vocabulary

1. KL 2 hudchépido train ticket

2. figf Fab yingwo n. hard berth, hard sleeper
on a train

3. fifl Ji yingzud n hard seat

4. i xiapu lower berth

5. 1T ding V. order

6. #h fei n fee, charge, cost

7. 1E4F zhénghiio adj. just enough, just in time

8. Jili {ed shunbian adv. by the way, in passing

9. ] tang m. (for indicating a trip or
trips made)

N )

% Proper Noun

Shang hii

i Shanghai

33



1+ 55 ¥4 Task List

— . 1% />F) %% 2] Exercises for Key Sentences
Wrsger, HEN 7RIS

Listen and fill in the blanks with the right characters or Pinyin.

iG], Bl105% Bilgr ¢ ) me?
2. C ) Ak ¢ ) FiBEZKETE?

3. C ) AN/NETIE,

34




N

. BRI % 2] Questions about the Text
(—) Wrsp, EFEIEFHRER.

Listen and choose.

]

LSRENEEATAZE? )

]

A R Z
B. APENZ
C. #:ErZ&

2. KEENKHRMBRIZE? ¢ )

(=) Wrsgdr, FWRE AR EIEM. MR, 8>

Listen and tell true (V) or false ().
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1. EEASLHRZI35H FAZE, )
2. K EERIT S g — L7008, ¢ )

3. ART109R ML B i+ AN, ¢ )

-

= . SZ%%%>] Performing Tasks
Wrsger, PRI 3.

Listen and choose.

[S—

CRENEE A AR EE? C )

>

135
145 F 4
C. 145w b

w

\O)

CRENCKRA AR C )
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LE2A: 115%R7?

BEER: NFRAMBET.,

EE2 A KA AREN?

BER: Beeeens T109x135 L A BN 2,
FEEAN: RHEI13THE, A THD?
BER: RAT, PHITD?

FEAN: T BMIKEZVR?

BEZR: miTE%, —£700,

T%A:A@%,Eﬁﬂﬂnm@H”T,ﬁﬁiM%?ﬂiﬁ£§
a] ?

BER: tZwibee, Bk, mEaf.
% EA: Wi

T =4 > =
EZR:. REAR!

LB A ] k135 £ N AR B,
EZR: 135 RAKET.,

T EA: 145R?

B 2R 1455 L0002 Lay?

F2A. oy, B T4S?
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Pk

g

e

!

Pk

2

=

it

AAH T A2

ARk _EAtrE, %V AR?

: 298 7T,

4, Wt
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